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Question 1 1 Vol
Which of the following carries a body T elsgl B awal) Jaan s Laa L_:_;T
in the air?

A thrust 231
drag )
buoyancy _o2Ial)

D lift &b,

Question 2 2 Il
Engineers are trying to fix a problem Ac i B ANCEia Oa) O gaudigeall J slan

with the train’'s speed. Which of the

¢ B Eage e Yoo 3 i
following should ba modifiad? e e kL sl - U=aY

A thrust &34
B heat 5,) =ty
C Change menu food in train OUREIL alalal) dasld  uaes
D buoyancy sakall
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Question S 5 18| [V (]

The scientist who designhes new | ........ g B Bk accay (531 allel)

plane is called...........
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B Gardner ] eV
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Question 7 7 Mol

Which layer of the atmosphere has
few air particles ?

L 2293 Al Seal) Y e A (gl
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thermosphere ndas g il
B mesosphere afus 5 Haal)
C stratosphere ndes gl )
D troposphere e s
p o o) ) el cidall il )
s g il - s 539 ) - b gl ) -
t A oubhal) J) gl Lo (oS Al g ABB 1) gal) Al
s g il - BN gl Ay -
p ondea g g AN Ak (B o) 5l e (oS3
BA.GLI:LA}:\SE\S‘):\Si- LJ\.&.\AJ&S\.\S‘).\ST- a.JS:LﬁA}:\.ﬂuSdgi-
D A ) Ol e Jiih g & ety oAl ¢ gl
all - &) o) - CL:‘)M -
191960 g b ga il g ghen g spall Al (B
Y - Uy Jal - Uyg sl -
D AL Lgd o) sel) a5 e g3 g A1) (A5 A ASdal)
b gyl - b g jaal) - s g0 i) -

D A S g sal) ) cilids s
s syl - s 59 ) - 5l i)




daaa b aia g 0 gadl dakld = cilalaal) dae) G4 28 um

< .‘I“I 1 Q;Lé ’If; oi :“s’
Mwu&wuuuuuiwo Llz {335

Lo 43 _L,Muiuuutahs._a'u..s._m, uaial)

TSN 9M93;-o-|~g—-”-591-.-1-’-,»’93’ ilges 3a 4xlisd

et g ymnagd) Lo
A Byl as55 Gulal

3535 k) Saege il B
“C) Sl 33 35055
CF) ol sally 31

oulaa) t'-'.r" Q.L.u ual-u

cals L..lS by azil
ZilolS¥1 ajls sadl L3
V g

:

i

-]

§ Ledladall SESE 201 Lags¥) L .3
i Soublall ol

3 v 3

f » L "

g ! x ..a - ; » ..:' \
t FS oy

¥

428

T




The following tool is used in

oulid B andnos Al 51

measuring ........... A

wi b |

:&ig I

2=

s E0

| st
A air temperature Bl daya
air pressure slsgd) ara
C amount of rainfall shal) daas
D | wind speed L As

The figure below representes

A barometer aaa g sl
B thermometer s gayal
C anemometer Saa gaail
D Hygrometer DR g ot
Question 10 10 Jlged)

Which of the following is

considered type of precipitation?

JCE] ra JSE e AN e L_gi
s Jskagl)

A air temperature Bhal) dan
B | humidity gk
C snow e
D wind gL
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Ta )

A in lakes, rivers SeaVg St B

B in the atmosphere Ssall Adal) 2

C In oceans and seas olaadly Glasaal) ‘_,a

D underground Gy Caas

Question 12 12 IVl

Which of the following is a use of ¢ d.ilall dgacad) Slaladie) Cra L Laa éi

water dams?

passenger transport <l Jdas
B generat electricity slgsll aales
(o= ship movement ORad) A< a
D transport goods bl Jas
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Question 13 13 I el
VWhen does a warm front form? TAIE S Adlgn Agua JESST _Sa
A when a cold air mass pushes dlng Jauad Bayls Adlga ALSS 3453 Laaic
under a warm air mass Asdla dadiga
B VWhen a warm air mass is dadiga Adig 1) Bl Ausigh AMSS aBaii Lasis
pushed into a cold air mass aayl
c when the boundary between A Omiatleg ) nlEall e aal) CAB g Lasie
two air masses stops mowving P PP ||
when two cold air masses _ - . . _ R
D OBasl HhSiga S0 ?J.h.a.ﬂ_‘l Laaie
collide
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Question 18 18 SVl

The climate in the Antarctica is e oyl B ¢ Lal)

considered.............

A moderate B ot
B polar g—*h"-"'
C warm A
D tropical 5
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Question 21 21 IV gl

How many days does it take for the Jsa o) Olyge Gt Lags as
Earth to rotate around the sun? ¢ Cuadd)
A 165
B 265
Cc 365
D 465
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